L 3
2 G e x

“x
S &

et 2 T 1T 1 T TITTILL
g oy s ] : . - :
—E = Y BRI S . ! } *v



CZ: '*2(.) 3y 0 L :
2o —+
2 .! +- JL ~Z,) anl
| 3 ;): o

= OF° 24 + 0’!"'

et 21T e
R -Pz2 = F 69x )y © Q xi3.-©

B-Pz = <89 .xﬁ(gﬁ? ~ 2% xxooob - |
R-Pz - 4.29% = £ ~
B-Pa2 - 84452 - 71« H?w- T .

-3
“ da" 121 -‘50wa -'éoo x O
Thoat A Dz -[SDwmm =150 %0"%m

C—_— .' -
5 '
E 77

‘.l‘;-’ ' » '0' 'lk&': 0'0‘?'7M1.
e < 3 6 _ cw O Fe
5' Y 0~ 9 ;O3 ol nang ~eten.3250mm
St - . 0 28w

v

LT

b=(14-n) x0-25 e
ol 8628

L
&

v

00177 »J 22
92 - 0.0177" R
0= O- (45 >ls 4

“ |
"

\\

o
.
- ‘ h ‘ ‘
-
. %
E
1' .

W
%’,



"N
=
=

-

-hy

SRl RS ED 7. | J - .
‘ - :
. i _‘ ‘ - -

—— -~
'TTT' T I ="
e i Lo



